6. Calculate the value of the unknowns in each of the questions below. C is the center of the circle in each case. 
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Type in your solution in the box below.
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To check your solution, click on the button below.


	Hypertext solution: 

{Insert solution in this space after button has been activated.} 
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Type in your solution in the box below.
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To check your solution, click on the button below.


	Hypertext solution: 

{Insert solution in this space after button has been activated.} 
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Type in your solution in the box below.
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To check your solution, click on the button below.


	Hypertext solution: 

{Insert solution in this space after button has been activated.} 
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Type in your solution in the box below.
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To check your solution, click on the button below.


	Hypertext solution: 

{Insert solution in this space after button has been activated.} 
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Type in your solution in the box below.

To check your solution, click on the button below.


	Hypertext solution: 

{Insert solution in this space after button has been activated.} 
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Type in your solution in the box below.

To check your solution, click on the button below.


	Hypertext solution: 

{Insert solution in this space after button has been activated.} 
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	7. PicA10

NML and NOP are secants of the circle K.
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Calculate the magnitude of K2
Type in your solution in the box below.

To check your solution, click on the button below.


	Hypertext solution: 

{Insert solution in this space after button has been activated.} 

{applet A10}
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Angle at the centre=2(angle at circ)
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